100

50

az247/71 J1711457 15marll

okesl freq: .
AST) Stokesl freq:4325
n

>
= 0
€ C i \ ]
I~ | ‘ | .
o | | | =
L | | | N
*Wooi 1 ‘ 1 ‘ 1 ‘ Il Il ]
0 500 1000 1500 2000 2500 3000
tmResSecs: 0.900 sample points

scanfitDeqg:2

a2471 J1711457 15mar11 (AST)
T I T

Stokesl| freq:4466.

1000 w ! ‘ w 7
r | \ \ \ 7
sof i i i i =
- \ \ \ B
_ - | | | 4
= ol
€ 7 i \ \ ]
- | i | | ,
50— i i i i ]
B i i i i ]
—100C L ‘ L | L ‘ ]
0 500 1000 1500 2000 2500 3000
sample points
a2471 J1711457 15marll (AST) Stokesl! freg:4608.
100 T ‘ T ‘ T ‘ T
r | \ \ \ 7
sof i i i i =
- \ \ \ B
_ - | | | 4
= of
€ - \ \ \ ]
C i i i i ]
50— i i i i ]
B i i i i ]
—100C L ‘ L | L ‘ ]
0 500 1000 1500 2000 2500 3000
sample points
a2471 J1711457 15marll (AST) Stokesl freg:4750.
100 T ‘ T ‘ T ‘ T
r | \ \ | 7
50— | | | | —
- \ \ \ B
- L \ ! \ y
= o
£

—50

—100 \

(@]
&)
(@]
(@]

points



a2471 J1711457 15mar11 (AST) Stokesl freq:4892.
T T T T I

100 \
\

50

>
= 0
S C i \ \ 4
n | | i | .
=50 — i i i \ .
B i i i \ ]
—100C ] ‘ L | L ‘ ]
0 500 1000 1500 2000 2500 3000
tmResSecs: 0.900 sample points
scanfitDeg:2 02471 J1711457 15marl1 (AST) Stokes| freq:5034.
100 T ‘ T ‘ T ‘ T
r | \ \ | 7
sof i i i i =
— | | | —
- - \ \ i
= 0 |
g 7 | .
- | i | | ,
=50 — i i i i .
B i i i i ]
—100C ] ‘ L | L ‘ ]
0 500 1000 1500 2000 2500 3000
sample points
02471 J1711457 15marl1 (AST) Stokes! freq:5176.
100 T ‘ T ‘ T ‘ T
r | \ \ | 7
50— | ‘ | | —
— | | | —
- L \ \ \
= oL N
g ¥ | .
B i \ i i ]
=50 — i i i i .
B i i i i ]
—100C ] ‘ L | L ‘ ]
0 500 1000 1500 2000 2500 3000

sample points



20

—20

Q2471 J1711457 15mar11 (AST) StokesQ freq:4325.
T T T I

0
tmResSecs:

scanfitDeqg:2

500 1000 1500 2000 2500 3000
0.900 sample points

Q2471 J1711457 15mar11 (AST) StokesQ freq:4466.
T T T I

20

millidy
o

I
(@)
HHH\H‘HH\H-

—20

=

@}

500 1000 1500 2000 2500 3000
sample points

Q2471 J1711457 15mar11 (AST) StokesQ freq:4608.
T I T T

20

= ‘
(NN RN NN

500 1000 1500 2000 2500 3000
sample points

20

(@]

I
(@)
HHH\H‘HH\H

—20

Q2471 J1711457 15mar11 (AST) StokesQ freq:4750.
T I T T

@}

500 1000 1500 2000 2500 3000
sample points



20

—20

Q2471 J1711457 15mar11 (AST) StokesQ freq:4892.
T T T I

0
tmResSecs:

scanfitDeqg:2

500 1000 1500
0.900 sample points

Q2471 J1711457 15mar11 (AST) StokesQ freq:5034.
T T T I

20

=1

500 1000 1500
sample points

Q2471 J1711457 15mar11 (AST) StokesQ freq:5176.
T I T T

20

(@]
=

I
(@)
H\\\\\\\‘\\H\\\

—20

@}

500 1000 1500
sample points



Q2471 J1711457 15mar11 (AST) StokesU freq:4325.
T T T I

20 ‘ ‘

(@)
HHHH‘\HHHH

I
(@)
HHH\H‘HHHH

millidy
o
S
HHH\H‘HHHH\ \HHHH‘\HHHH

| | | |
| | | |
| | | |
| | | |
—20 | | | | | | | | |
0 500 1000 1500 2000 2500 3000
tmResSecs: 0.900 sample points
scanfitDeg:2 02471 J1711457 15mar11 (AST) StokesU freq:4466.
20E T ‘ T ‘ T ‘ T -
E | | | | 3
of i i » » :
= | | | | =
> g ‘ \ | | g
= O o
- | | | | E
= i i i ‘ -
—10E | | | | E
E | | | | e
-20E L] ‘ L ! L] ‘ 3
0 500 1000 1500 2000 2500 3000
sample points
a2471 J1711457 15mar11 (AST) StokesU freq:4608.
20E T ‘ T ‘ T ‘ T -
E | | | | 3
of i i i » :
= | | | | =
> i | | 3
= ogh #
z i i i i )
E | | | | 3
—10E | | | | E
E | | | | e
-20E L] ‘ L ! L] ‘ 3
0 500 1000 1500 2000 2500 3000
sample points
a2471 J1711457 15mar11 (AST) StokesU freq:4750.
20F \ ‘ \ ‘ l ‘ \ -
E | | | | 3
of i i » » :
= | | | | =
> g ‘ \ \ | g
= og -
€ & | | | | =
E | | | | 3
—10E | | | | E
E | | | | e
-20E L] ‘ L ! L] ‘ 3
0 500 1000 1500 2000 2500 3000

sample points



Q2471 J1711457 15mar11 (AST) StokesU freq:4892.
T T T I

20 ‘ ‘

(@)
HHHH‘\HHHH

I
(@)
HHH\H‘HHHH

millidy
o
%
HHH\H‘HHHH\ \HHHH‘\HHHH

| | | |
| | | |
| | | |
| | | |
—20 | | | | | | | | |
0 500 1000 1500 2000 2500 3000
tmResSecs: 0.900 sample points
scanfitDeg:2 02471 J1711457 15mar11 (AST) StokesU freq:5034.
20E T ‘ T ‘ T ‘ T -
E | | | | 3
o * i * * E
= | | | | =
> g | | | | g
= o o
€ = | | | | =
= i i i ‘ -
—10E | | | | 3
g | | | | g
—20E L] ‘ L ! L ‘ 3
0 500 1000 1500 2000 2500 3000
sample points
a2471 J1711457 15mar11 (AST) StokesU freq:5176.
20E T ‘ T ‘ T ‘ T -
E | | | | 3
of i i » » -
= | | | | =
> g \ | | | g
= oW 4
€ E i i \ \ 3
E | | | | 3
—10E | | | | E
E | | | | e
—20E L] ‘ L ! L ‘ 3
0 500 1000 1500 2000 2500 3000

sample points



a2471 J1711457 15mar11 (AST) StokesV freq:4325.
T T T I

20F ] ‘ \ =
= ! } ! ! =
= | | | | =
10 =— ‘ ‘ ‘ ‘ —
= | | | | =
> = | | | | E
= e L
Ok | | | | -
= | | | | E
3 | | | | E
= | | | ‘ -
720: 1 ‘ 1 ‘ 1 ‘ 1 ‘ Il -
0 500 1000 1500 2000 2500 3000
tmResSecs: 0.900 sample points
scanfitDeg:2 02471 J1711457 15mar11 (AST) StokesV freq:4466.
20FE T T T T T T T
= ! ! !
= | | |
10 =—
E ! ! !
> g \ \ \ \
= i

I
(@)
HHH\H‘HHHH

\ \ \ \

| | | |

| | | |

| | | |

720 Il ‘ Il ‘ Il ‘ Il ‘ Il
0 500 1000 1500 2000 2500 3000
sample points
a2471 J1711457 15marl] (AST)fﬁokeSV freq:4608.

20 T T T T T T T
|
|
|
|

(@)
HHHH‘\HHHH

millidy
o
§
HHH\H‘HHHH\ H\HHH‘\HHHH

I
(@)
HHH\H‘HHHH

\ \ \ \
| | | |
| | | |
| | | |
—20 | | | | | | | | |
0 500 1000 1500 2000 2500 3000
sample points
az471 J1711457 15marli (AST)fﬁokeSV freq:47/50.
20 \ ‘ \ ‘ T ‘ \ -
E | | | | 3
of i i » » -
= | | | | =
> g \ | | | g
= 0 ‘ o
€ = | | | | =
E | | | | 3
—10E | | | | 3
g | | | | g
-20E L ‘ L ! L] ‘ 3
0 500 1000 1500 2000 2500 3000

sample points



a2471 J1711457 15mar11 (AST) StokesV freq:4892.
T T T I

20 1 ‘

(@)
HHHH‘\HHHH

millidy
o
%

I
(@)
HHH\H‘HH\HH

| | | |
| | | |
| | | |
| | | |
—20 L] ‘ L ! L ‘
0 500 1000 1500 2000 2500 3000
tmResSecs: 0.900 sample points
scanfitDeg:2 02471 J1711457 15mar11 (AST) StokesV freq:5034.
20E T ‘ T ‘ T ‘ T -
E | | | | 3
of i i » » -
= | | | | =
> g ‘ \ | | g
= oW i
e E i | i | i
= i i i i E
—10E | | | | 3
g | | | | g
—20E L] ‘ L ! L ‘ 3
0 500 1000 1500 2000 2500 3000
sample points
a2471 J1711457 15mar11 (AST) StokesV freq:5176.
20E T ‘ T ‘ T ‘ T -
E | | | | 3
o * i * * E
= | | | | =
> g | | | | g
2 ol
- i i | | i
E | | | | 3
—10E | | | | E
E | | | | e
—20E L] ‘ L ! L ‘ 3
0 500 1000 1500 2000 2500 3000

sample points



